E £ x B =

S fM5H3 A 31 BB/ EAE
NIHHEENEHE L (BLAT : F)
B GRS REE R w5
[. & E O &
.R 8 & E
REeHEe 1,348,817 2,212,021 863,204
MBEES 1,348,817 2,212,021 863,204
2.8 & & E
=N
T 4,052,000 4,052,000 0
=2 2 2 0
AR &R 93,765 93,765 0
RrEEE
AR &R 13,258,000 13,258,000 0
EfEs| e 0 0 0
ZOMOEE & E
fim & 44 44 0
BRI 413,229 366,051 A 47178
BlE&EARET 17,817,040 17,769,862 A 47178
BEAET 19,165,857 19,981,883 816,026
I. & & o &
1.0 8 & &
RYe 0 0 0
Rihe 0 0 0
RBREAET 0 0 0
2.8 E & &
EE & EaEt 0 0 0
B8 & & &t 0 0 0
M. I Bk BF E O #B
1.9 & IE B Bf 2 0 0 0
OBLEKRHFE~DT LEE) ( 0 )|( 0 )| ( 0)
OBREEENDT LEE) ( 0 )|( 0 )| ( 0)
2. — & IE BK Bf E 19,165,857 19,981,883 816,026
(OBEXRME~NDIE %) ( 4145767 )|( 4145767 ) |( 0 )
OB EEE~NDIT %) (13,258,000 )|( 13,258,000 ) 0)
1F BK B E & 5 19,165,857 19,981,883 816,026
BERERVEKYMESG 19,165,857 19,981,883 816,026




